Z,H

Z, H Series

Flow control valve

SP

Straight type
SPE

Elbow type
SPF

Flat type

SPER

Universal elbow type
SPSR

Universal type

SPR

Universal type

(Air inlet specifications)

Specifications

Model No. Unit SP-Z-M3 SPER-Z-M3 SPSR-Z-M3 SPR-Z-M3N
Port size M3x0.5

Effective area mm? 0.4

Cv value (fully open) 0.022

Fluid Air

Operating pressure range | MPa 0~0.8

Ambient temperature °C -5~60

Weight g 3 \ 4 \ 5 \ 4
Model No. Unit| SP-H-M5 | SPE-H-M5 | SPF-H-M5 |SPER-H-M5] SPSR-H-M5| SPR-H-M5N
Port size M5x0.8

Effective area mm? 1

Cv value (fully open) 0.056

Fluid Air

Operating pressure range | MPa 0~0.8

Ambient temperature °C -5~60

Weight g 10 10 15 15 16 15

Note) Effective area: value measuRed when flow rate of speed controller is fully open.When the temperature
falls below 5 °C, please provide air dryer to prevent water frozen.

Control Method

> o OsPE OSPF OSPER @sPSR  @SPR
= Free fluid |
= o e Free fiid Free fluid Free fluid
fate !! ol rate Free fluid rate
e o Controlﬂow 2 bl
T Control flow &
rate ra(t)g oo Control ~ Control Control
flowrate flow rate flow rate

J14 @ FONTAL



Representation

(sp)-[z] J-(ma] [ ]
6 o0 © oo

SP  : Straight type

SPE : Elbow type

SPF : Flat type

SPER: Universal Elbow type

SPSR: Universal type

SPR : Universal type(Air inlet specifications)

Z: Z series
H: H series
(3) Surface treatment
Without mark : Standard
S : Electroless nickel plating
M3: M3x0.5
M5: M5%0.8

(5 Control method method

Without mark : Outlet flow control

N . Inlet flow control
Note) Inlet flow control is only available with SPR
type
(®) Special style
Without mark : Standard
N1 : No oil treatment
Characteristic of the flow rate
Z Series
£/min (ANR)
25 ( T
0.6MPa
20—y ! //
o | 0.4MPa
Q5 ; 7
© | 0.2MPa S A
z " 0.1MP. T
R e
S
0 1 2 3 4 5 6 1 8 9 10
Turns of the ejector pin
H Series
£/min (ANR)
25
[ o] |
20 T
' 0.4MPa J
©
Y 0.2MPa
s A/
3 0.Mpa | N M J
s
T
0 1 2 3 4 5 6 717 8 9 10

Turns of the ejector pin

Z,H

Structure

Main Components

No. Component Name

Body

Ejector pin

Top cap

Mounting nut

Check valve seat

Spring

Niojoalh Wi =

O-ring

A Caution

Before using speed contrel valve, please check

the flowing direction first.

@ FONTAL

(@)
()]
<

J15



Z,H

Dimensions

(Unit: mm)

SP-Z-M3

M3x0.5

MAX20.5

_—‘_§ MIN18

o I
13 \ M3X0.5
SPER-Z-M3

aav

J16

1]

0.25

M3x0.5

SPSR-Z-M3
Mark@

MAX23.5
T MmNzt
9
I ‘
7z 4 3
M3X0.5 s|s | Vost
13
Mark@ SPR-Z-M3N
M3X 0.5
MAX22
MIN195 T 3

1

105 5

Mark I@

il
-
i

M3x0.5

_ﬁ M3 X 0.5

@ FONTAL

6.5

9 25

0.25




Dimensions

(Unit: mm)

SP-H-M5 Mark@ SPE-H-M5 Mark \-[;‘r

T

135 105 3 M5x%0.8

MAX32  MIN28.5

2-¢34 / T
MAX29 * 188
M5 0.8 ‘ L
X ] b p t MIN25.5 {} N4 :‘; i i
L TR 1 138 D 8.5
55 4 | L W 2-¢3.4
3 1)9 T o 16.5
‘———~—~‘—l M5 X 0.8

SPF-H-M5 Mark@ SPER-H-M5 Mark@
e ‘% VAX2S ——fMAXSS.S

M5 X 0.8
§ MiNzs5 M5x 0.8 13 5MIN30
I
}3 L e |
4 T 1.5
11245
L] ;
9.5 M5x0.8 8 .5 M5 % 0.8 8 9.5 8
155 105 |45 22
20

SPSR-H-M5 Mk @ SPR-H-M5N vk @

MAXA0 f MAX35.5

M5%0.8 7‘5
MIN36.5 | 12 MIN32 vl M5 X 0.8
M5X0.8 Y 20
25 4 8
H i /AR J +
i \S%
8 9 |a5]15
[ A 5 135 4.5
135 |45

@ FONTAL J17

ADD



